6/1/2021 Fax



Purchase Order Date PO/Reference No. Revision No. Revision Date

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer CI

chasu

chasu

Texas A&M University - Kingsville is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of Texas A&M University - Kingsville.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

6/1/2021 Fax

640	F.O.B. Destination	All pricing must be F.O.B. Destination.
650	Public Information A	ct Public Information. (a) [PROVIDER] acknowledges that [MEMBER] is obligated to strictly comply with the Public Information Act, Chapter 552, Texas Government Code, in responding to any request for public information pertaining to this Agreement, as well as any other disclosure of information required by applicable Texas law. (b) Upon [MEMBER]'s written request, [PROVIDER] will provide specified public information exchanged or created under this Agreement that is not otherwise excepted from disclosure under chapter 552, Texas Government Code, to [MEMBER] in a non-proprietary format acceptable to [MEMBER]. As used in this provision, "public information" has the meaning assigned Section 552.002, Texas Government Code, but only includes information to which [MEMBER] has a right of access. (c) [PROVIDER] acknowledges that [MEMBER] is required to post a copy of the fully executed Agreement on its Internet website in compliance with Section 2261.253(a)(1), Texas Government Code.
655	COVID-19 Delivery Clause	Please be advised that Texas A&M University-Kingsville is currently operating with limited employees as per COVID-19 Social Distancing recommendations. Please ensure that a delivery date and time is coordinated and confirmed with the Customer Contact (indicated on the PO) in order to avoid issues with deliveries. Texas A&M University-Kingsville remains committed to our suppliers and contractors during these challenging times. For questions regarding delivery to the Central Receiving compound, please email centralreceiving@ tamuk.edu.

1 of 31	SEQ-KSK-ELO-FSTD ELO KIOSK KIT WITH FLOOR STAND	NA	EA	4,675.00 USD	3 EA	14,025.00 USD
		I				
2 of 31	SEQ-KSK-ELO-IPPM ELO KIOSK KIT - IPP 350 MOUNT	NA	EA	195.00 USD	3 EA	585.00 USD
		ı				
3 of 31	EMV-IPP350TERM EMV P2PE TERMINAL	NA	EA	520.00 USD	3 EA	1,560.00 USD
		ı				
4 of 31	EMV-PERDEVANNFEE ANN COST PER DEV FOR EMV P2PE	NA	EA	250.00 USD	3 EA	750.00 USD
		I				
5 of 31	SEQ-KDS-KIT KITCHEN DISPLAY HARDWARE KIT	NA	EA	1,495.00 USD	3 EA	4,485.00 USD
		I				
6 of 31	SEQ-KDS-WMNT-KIT KITCHEN DISPLAY WALL MOUNT KIT	NA	EA	350.00 USD	3 EA	1,050.00 USD
		I				
7 of 31	SEQ-QPS-KDS-3 KITCHEN VIDEO DISPLAY MODULE	NA	EA	1,275.00 USD	1 EA	1,275.00 USD
		ı				
8 of 31	SEQ-PTR-REMOTE REMOTE KITCHEN PRINTER	NA	EA	550.00 USD	2 EA	1,100.00 USD
		I				
9 of 31	SEQ-QPS-KIOSK-3 KIOSK INTERFACE	NA	EA	1,275.00 USD	1 EA	1,275.00 USD
		I				
10 of 31	SEQ-QPS-BAND-3 CLOUD POS - ENTERPRISE	NA	EA	5,100.00 USD	1 EA	5,100.00 USD

6/1/2021 Fax

/1/2021		Fax				
25 of 31	TRMKT-DR5000-OF DR5000 TRIM KIT (5)	NJ/\$	EA	40.00 USD	22"AA	880.00 USD
		I				
26 of 31	PR5000-AUXCABLE PR5000 AUXILIARY DATA OUTPUT CABLE	NA	EA	85.00 USD	3 EA	255.00 USD
		ı				
27 of 31	TSP-PR5000-OF PR5000 POS READER	NA	EA	1,100.00 USD	3 EA	3,300.00 USD
		ı				
28 of 31	MRD5-OF MRD5 MOBILE READER DEVICE	NA	EA	243.75 USD	5 EA	1 ,218.75 USD
		ı				•
29 of 31	SC-MCEXPERTSRVCS MOBILE CREDENTIAL EXPERT SVCS	NA	EA	10,000.00 USD		
		I				
		ı				
		1				